REMA

P 3\%‘ gztt .ﬂL’_

8 BRI A RS H 2 2 AR 2
?ER’E‘E
= ;‘%1@% s g £ 14 (Eureka) 3 1 - 91 # > S 443126 4 1,401 -
g % A 1,202 “E’%85%@’+$%E$ﬁ@ﬁ%§%wm4%??&&
87.3% & % 3z o

PIFRGEH ot 4 40 230 2E A S o A 203 2 ES2 0 kA LB
195 2+F ~ @Y 152 \fﬁﬁdva\ﬁﬁi52%i8%’“f’%£é
63.1% ~ % B ¥ 73.6% > iR HFLF B¢ Sy LA ERE )

P L ﬁ#ﬁﬁ;ﬁ7%%@WUFimﬁféﬁﬁwﬁ&ﬁﬁ’
35310 oFF > HA 524 UL E £ 100 20> 2 3 A B
BRI SALS B E R T > B BNk RS M A E AN B FH )
w W%

By ﬁﬁ&&ﬁmﬁﬁ%*@mmﬁ E’Qﬁﬁﬁﬁﬁ’ﬁ%ﬁ%
A2 E > PG R ETA L 2R 25 FH IR TSR
A CEBEREMFEE 5D FRERSPHEE S R R
Boo AR R B EE A #H&\M%@W*‘%m6“ﬁﬁm
# 3 FAvFTieH v A E T 2 ﬁ{[ﬂf’ B oBEH - >EEYE
4 822 45 (F 48 10 = 7) ~ 231,080 ~ > T 3HE o 281m’x%1‘é B 4p
o REYN R KRS 2 FE ¢ K T UF A A#H

Adpdean > 9102 £33 4 FH I % 0 93 EUER/RAEL B(£ 1) 3 &
THoHf&EI 19648 Lo T HHF I 217 ~ > #2090 # 11.1 ~ 5%
B 2B ERA O3 EEHEE N 92 & 5 2.7% 0 e ¥ A AR
442%0;LL F’T+ﬁ—€év\ et b (= 27 6 2)16 8 27 ~10 3 =

2703 & 9P by 048 1 b2 T PREE S A EF
é’uﬁ?i/%ﬁﬁ.?‘

O



% 1.90~93 & B BALF AR T AL 3t £ (= : 27.%)
ER

_. 90 91 92 93

g 3,239,653 3,340,643 3,403,938 3,497,198

&% 35,995,450 50,153,350 52,745,037 76,035,007

£%/#%E 111 15.0 15.5 21.7

Hipdp 100 135 140 196

#E 4 3 2 1

SR o ERFMH EET T

1rfepen: dad BB > SFRE L £ FRHE L ARF
TrEF BEIHESER 2 CLHRE % SNA
R o

2.7 AT R BH A 32 2F ~ 11,000 $A(17HE 7 2 e xthEE 4 2 ) A &
BEP L0~V EG6 7 (X F %) FFE4 2 15 #£(91~106 #) -

3 E  AF Ol EX 2 o M- BARY H G PERY T PR
Wt AWAE RATFEP AN TR S
35 o

AFEHEF & 2>F/& 2 F 50,000~60,000 2 7 > 2F/# 4242 F 800,000 ~
1,000,000 ~ » 2 % /# Jz » ¥ 2,600 § ~~3,200 § =~ -

ZORPECERFENEERT H(R 2

%293 &R MHREFT AN L

byl 2 3 4 5 6 7 8 9 10 11 B3

fi% 30 30 75 35 80 234 153 40 50 95 822
7% 810 300 100 300 289 251 208 215 200 245 281
4 47 24,250 9,000 20,875 10,500 23,100 58,780 31,800 8,600 10,000 23,250 231,080
W

oA 1 9 9 2 3 4 7 6 8 5

-85 -



PR EREEA R K (43
we e BRI £

# 3. o & ’K}}

ﬁjﬁa‘(};)

LR
(*#R)

90 = 7. 4
T (3S)

90~100
(28)

(2)100~
120 (S)

(#)120~
150 (M)

(#%)150~

200 (L)

200 = 5
V!
(XL)

(6~74)

(7~84)

F ¢
(8~9 4 )

PR ¥
(9 >3 t)

Lok 238 % 50 b SRR FFE % 2 38 B A il o

2RIFFESPARLIFLR SRRGS
DR AR § R GRS
AF i £ {4 (Eureka) 2 7 #+ | %4 S

¥R 2

- 86 -

SRGTH S HG R

E A R




